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UM~ 1/PART - 1

Dyirections Q.No.1-2;

LUhoose thae word from the Ei.\"ﬂ'l op "

best expresses the meaning of the underlined
word.

1. Solicit
(1) * Require
(2) Beseech-
(3)  Demand
(4) Claim

2. Amicable

(1}  Friendly

(Z)  Interesting
(3) Loving —
(4) Affectionate

Directions Q. No. 3-4:

Choose the correct alternative to complete each
of the sentences given below.
3.  Work hard lest you fail.
(1) should :mt;gt

(2) may

(35 may

Directions Q. No. 5 -6

Out of the given alternatives choose the word
which most closely fits each definition.

5. An old unmarried woman

(1) Spinster

(2) Virgin

(3) Chaperon
(4) Maid

6. Medicine used against a poison.
(1)  Antiseptic
(2) Antimony
@)
(4)  Antidotes

Antipode

Diirections (). No. 7-8:

In each group of words given below, one word is
spelt wrongly. Choose the word. )

72 Tiaf1)
(2) Adharence
(3)



Directions (. No. 9-10:

Each of the tollowing idioms is followed by four
meanngs of which one is correct. Choose the

LU O,

9. o look down upon,
(1} to scorn at
=) tolook at something from a height
(3} to search for something
(4}

o examinge superficially..-~

10. To pull strings
(1)  toact as a mediator
(Z) totighten up
(3)  to become alert "
(4) to manipulate

Dhirection Q. No. 11 -13:

Each of the following sentences has been divided
into four parts : (1). (2), (3) and (4). There is an
error in one of the parts. [dentify the part which
has the error.

You must go / to my village /
(1) (2}

~ andseemy property /-
l‘ |- r B -:gl -

.-._-:l : .
=

11.

12.  There is going / to be a election /

T m )

ol the cooperative society.

()

13, Just / three minutes before /

(1) (2)

the train was to reach Pantra [ ]
3 -

t ] '..-'-.
she suddenly screeched to a halt. y
.1‘ s Sl |
# _ Jt,:l E,.

Rt

i i

Directions ). No. 14-15: -
In each of the following items, choose the word
opposite in meaning to the given word.

LS -

14. Discount ™ Wi
(1) Concession
(2) Interest—
(3) Premium
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PART - 11

The Reserve Bank of India has directed al)
the bank to make __
mandatory for all transactions w e f

'i.--ll]'ld Y

January 01, 2017,
(1) ATM

(2) * Voter ID
(3) Adhaar

(4) Credit

Union Cabinet on Aug 31, 2016 gave its
approval to the radical changes in the FDI
regime by allowing increase upto 100%
in:

(1) Farms and farm pmdutts
{2} Defence Sector

(3) Telecommunication industry

(4) Indian education system




M. ol e W 2015 W WA W | 4. The  Harvard  Foundation's 2015

W YA TEwm T Humanitarian of the Year Award has been
given to
N e wend (1) Kailash Satyarthi
qra s (2) Baba Amte
LT fHERE (3)  Malala Yousutzai
(4)  Tem shn ofetn frav (4)  Bill and Melinda Gates

88 w2015 % fero dee sifvindt (fessTe) R | 35, Who won the (Filmfare) best actress award

fen stfvyah 3 wra fsm ? for the vear 2015 7
(1) wrasf faem (1) Sonakshi Sinha
(2) Wi W (2) Kareena Kapoor
A3 difvw agEm (3)  Deepika Padukone
(4) i (4)  Bhumi Padnekar

3, 9w 2016 # 0 # §2ChEE Wi A W W | 36 The International Court of The Hague |
i ¥ A fEm? July 2016 rejected China's claim over :
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39.

Ivdia’s multitask supersonic fighter plan,

was named “Tejas™ by

(1 Air Marshal Jasbir Wali
(2} Marendra Modi

)] Abhdul Kalam

(4]} ‘tal Bihar thp.,u

\s per data released by the central statistics
office. India’s projected GDP growth in Q1

of 200617 is 2

(1 79%
2 7%

B3 71%

4y 7.2%

India’s oldest aircraft carrier recentl,
decommissioned was :

(1)
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41.

Which of the following states is NOT going
to have elections to the state assembly in
2017 ?

(1) Uttarakhand

(2) Uttar Pradesh

(3) Rajasthan

(4) Pumab

Name the Indian gymnast who narrowly
missed a bronze medal :

(1) Diana Kunju
(2) Deepika Kumar

(3)  Deepti Karmarkar

(4) Dipa Karmakar




@ ey hfﬂﬂ_nﬂilﬁl (Frfam) fada® 39 | 43, The newly drafted Surrogacy (Regulation)
W fom %) wva feon w43 ¥ siqwfa wzm Bill permits surrogacy for the parents :
wTm # :

- l'l W “ ® faenfen & sl wrpfors = (a)  who have been married for five years
H o W w3 2w W) and can’t have children naturally.

(b) Toel wfa g ® 5= T (b)  who lack access to other reproductive
o el ¥ technologies.

(1) (a) 30 (b) = s ¥ (1)  Both (a) and (b) are false.

(2)  (a) 5 ¥ 3hy (b) 7w R (2)  (a) is true and (b) is false.

(3)  (b) 5 ¥ 3l (o) wEe B (3)  (b) is true and (a) is false.

(4)  (a) # (b) 3w #) (4) Both (a) and (b) are true.

4. W fava | Mo wifa fean ¥9 v | 4. International Peace day was celebrated all

™ ? over the world on :

(1) faeaz 16, 2016 (1) September 16, 2016
(2) fad"R19, 2010 (2) September 19, 2016
(3) faeraT 21, 2016~ (3)  September 21, 2016
(4) fodae2s, 2006 (4) September 28, 2016

45w PrEm g SDI) 2016 § 90 WA




4. vm witen % wer @ uw T 79 % | 46, Irom Sharmila has recently formed a new

na fem ¥ foem =am & political party called :

(1) e frodte oy wfien vams (1) People’s Resurgence and Justice
Alliance

@) en yfefrea vemig” (2) People’s Political Alliance

(3 iwen wlen veny (3) People’s Justice Alliance

(4) fowdla ve sfen vame SfF 9o (4) Resurgence and Justice Alliances of
people

47. VR wewr]fieE qEEr 2016 79 fR T | 470 UNESCO Confucius Prize - 2016 has been
t

awarded to:
(1) 99 fowm T, weeq (1)  Jan Shikshan Sansthan, Mallapuram
2) W T, SEAE (2) Saksharata Niketan, Lucknow
(3) et e frenerlt wear, e w5 - (3)  National Institute of OpenSchooling,
Delhi
(4) i feom, wg-am-wY H® (4) Step - by - Step, Nagor
48. WFEITA ®AA W AT weRfa §d §U WEied | 48.  Expressing its opinion on the defamation
e A wE Law, the Supreme Court has said :
(1) TwEfa® FmaAl ®1 A9 v A (1) Political leaders should be careful
wfvenfam & air § wad # =fi) about their speech and expression.
(2) v 3 sifeafam v e (2) ~ Freedom of speech and expressionis
sifirRr T & notan absolute right.
(3) e @ iR st 9 = (3) Right to reputation supersedes

| 7EH E right to freedom of speech
(4) vt =i wEam F wE A (4) Freedom of och
Fum W T constitutional validit

49. MCC it FeE § Fef- Won Witd | 49, First Indian woman :
- i ""'". }'. i 'I m 3 I-I:'-l _ 1 ”-.l.h I.:-!-:'!_
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50. How many candidates of Indian origin
won election (2016) to Canada’s Howse ol

51.

53.

Commons 7

(1)
(2)
(3)
(4)

19
12
12

17

Scramjet Rocket Engine was successtully
test fired recently by :

(1)
(2)
(3)
(4)

ICSE
ISRO
DRDO
BARC

Which one is ‘odd-man-out’ 7

(1)
(2)
(3)
(4)

Werld Food Day - Oct, 01

World Polio Day - Oct, 24

World Teacher's Day - Oct, 05
World Mental Health Day - Oct, 10
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56. TMFEE 29 §. A A &
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(2) 449
~(3) 453
@ 46

54. The Supreme Court has reprimanded BCCI
and given it an ultimation to :

(1) dissociate itself from International
Cricket Conference.

(2) release funds for upcoming test series

(3) appoint a subpanel to review Lodha
panel’s recommendations

Lodha

recommendations

(4) implement panel’s

55. Who was the captain of Indian Women's
hockey team for Rio Olympics ?

(1) Deepika
(Z) Rani Rampal
{3) Sushila Chanu

(4) Poonam Rani

56. Donald Trump is the
of the USA.

{1 o
(2) aa®
(3) 45t 3
@ 46t

The Nobel Prize for Medici
awarded to :

Ay
TOsl
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58. Match the books recently published with

their authors :

A B

(a) [Tiger : The Life of (i) |Neena Gopal
Tipu Sultan

(b) |All of us in our  |(ii) |Manjushree

own life Thapa
fn‘}l The Assassination |(iii) [Kate Brittle
of Rajiv Gandhi Bank
(a) (b) (e)

M G 6 G
@ @) @ )
@ O ) i)
@ @ @ )

Central Board of Direct Taxes launched
e-nivaran facility to help the taxpayers.

It relates to

(b) Income Tax Returns
(c) TaxDe i
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T i =) s 9 W@ ?
(1) 3-3

(2) 0-0

3 1-1

[4) 2-2
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wigE | /vl e 59 T W -

bl

bl.
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tootball tunal mate by tiedd between Brazil and

Lermany |
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After a meeting between President Barack

Obama and Myanmar State Counsellor
Aung San Suu Kyi, the US seems to be

prepared :

(1)

(2)

to provide military support to the
new govermment

to support her government against
the military Junta

to rehabilitate the Muslim refug
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(1)

(3)

(4)

sitérifes w31 T
AT Ziaw A T
siEriez ¥em wei,

Yofeifaes W 2016 H =l 2=y =73 Tt

YR AT Afgen o

(1) &g

(2) e wfew

(3) Em wiEw

(4) mwﬂ/

2015 ¥ fom fFeatrar 4 sifirm we e

63. “Indian Banks have recently recalibrated
their ATMs.”

Hoere ATM stands for

(1)
(2)
3)

(%)

Automated Transfer Machine
Automatic Transfer of Money
Automated Transfer of Money

Automated Teller Machine

64. The first Indian woman to win a Gold

medal in Paralympic Games 2016 is :

(1)
(2)
()

(4)

Alka Grace
Sakshi Malik
Deepa Malik

Varuna Bhat

65. Who won the (Filmfare) best actor award
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o FAmEtaa =1 e |
(1) HEe A
(2) T e
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(4) T
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iy,

8t BRICS Summit held in October 2016

towsk |'-|.'u & in

i1} Miumban

(3) Y hmedabac
I,‘Il 'l'l;.'.lll
meet of BRICS Women

lhe recend

Parliamentarians was held at :
(1} mAE Aba
(2) Ajmer

(3) Jaipur

(4) Jodhpur

According to Forbes, 100 Richest ans
Llﬂt, numb'E'r k DI'I.E I-FHH}E ] 'r :_ | by

st




(2)
..':’ 41@ FE 01, 1952 - 317 15, 1990

69. EeE wifa qrEn 2016 F fasim qam fqua

widw e #

(1) iﬁw"/
(2) wTHEER
(3) W

(4) ==t

Tt e 3 we &t H =7 fosaferdi %1 it
ATl WaH #1 & fom = N g
= g A

(1) === 31, 1960 - 9719 31, 1990
ST 15, 1947 - e 30, 1987 %

AT 26, 1950 - EE 01, 1987

Nobel Peace Prize 2016 winner, Ju,,

Manual Santos is the President

(1) Venezuela
(2) Ecuador
(3) Paraguay

(4) Colombia

The Delhi High Court has recently grante]
Indian citizenship to those Tibetans wh
were born here between :

(1) January 31, 1960 - March 31, 1990

(2)  August 15, 1947 - July 30, 1987

3 Jm'ruﬂrriﬁflﬂﬁﬂ-lulrm._?;ﬂ?
s, 1
(4)  January 01,1952 - August 15, 1990

& A
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Fake the given statements as true even U

they seem to be at v .|:|.|-'1u.'I|'|H1'u1'l1'.1|:1“|'l|:'-'
known facts and decide which of the
conclusions logically follows from the

statements

Statements :

Ll Mangoes are frults. Some ftruits are

vegetables, No vegetable is cereal.
Conclusion :

(1)  Some fruits are Mangoes

(I} Some cereals are vegetables

(I Some fruits are cereals.

(1}  Omnly conclusion (II) and (III) follow
(2)  Only conclusion (I) follows
(3)  Only conclusion (I) and (II) follow

(4) Omly conclusion (lI) follows . ol
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HIA #M ABCDEF 3R G U% 38 4 91 1 &
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Which of the following diagram can depict
[able, Chair and

T,
the exact relation between

Furniture ?

4 BRI

@ |\

Directions Q. No. 75 - 78 are based on the
following information.

Seven persons ABCDEF and G, travelling
in a bus belong to different states viz Gujarat,
Assam, and Delhi. Not less than two and not
more than three persons belong to one state. Each
of them wearing different colour outfit viz Red,
White, Yellow, Blue, Green, Brown and Black but
not necessary in same order.

E doesn’t belong to Gujarat and wearing
Brown colour outfit. The one who is wearing red
-':uiuu.l: hﬁlm'l,gn to ﬂssam A belongs to Delhi as
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Te. T B wi-m wqE =i -t =

e

4T} F-7To0M - ¥
(2) E-foeell - qu»
(3) A -wEW - =\ A
(4) O -7\ - 9ie ¢

77. DE ufvE s i d?
(1)
(2) g
By ten

(4)

78. TAH FA-T WE A T H E 7

(1) CEF
% ABC
BCF

Pas

(4) BCE

m9.  ffz e INTERNATIONAL' %18 &1 i

1 3 FOiEEn F AR e S AL |
mmnqmmmaﬁﬂﬂmm

S m ﬁuﬂ HE '& 'l'-'..'El feam Tumr.ii'[

76.

Which of the following combinations of
person - state - outfit colour is correct ?
(1) F-Gujarat - Green

(2) E - Delhi- Brown

(3) A - Assam - Red

(4) C-Gujarat- Yellow

What is the colour of Qutfitof D ?
(1) Red

(2) White

(3) Blue

(4) Black

Which of the following combination
represent the persons from Gujarat 7

(1) <CEF
(2) ABC
(3) BCF
(4) BCE

If the every wvowel of the word
‘INTERNATIONAL’ :schmgedtﬂmm A
letter in English alphabet and every
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80, ‘&' 3w wwitva & 'O @ oW TR
' sira " e # R
Lm" HAIY
(2) ThEn
(3) W
(4) TG

e b
= fasredi & #-m fawes JAN - UL &
HaY F =vA £ 7 ‘Jﬁ’ o 7
(1) NOV: DEC/
(2) MAR:SEP
(3) IEIEE . OCT
(4) APR:AUG

B1.)

o wys wwe 82 wa 83 Prafafes gun w
smenfia ¥

b FAAHIEE AN & WEH, A e T H A TH
e &1 =AY SELE a9 g A9 § 9
Hehicl F AL £ | Ahi @l Tl SHEEIaE 6 e, 99
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a’q H,‘q\.ﬂ'l'*
g:?'l =T el

80. ‘Square’ is related to “Cube’ in the same wa)
as ‘rectangle’ is related to ___

(1) Cuboid
(2) Sphere
(3) Cone

(4) Polygon

81. Which of the following alternatives has
same relationship as that of JAN : JUL?
(1) NOV:DEC
(2) MAR:SEP
(3) FEB:OCT
(4) APR:AUG

Directions Q. No. 82 - 83 are based on the
following information.

In a group of 6 professionals, there are two
couples. One of the couple is Doctor and the other
is Teacher, others are Lawyer and Banker

Banker's wife is not a professional where as
Lawyer is still bachelor.

82. How many male members are there in this
group of 6 professionals.
(1) Four
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(1) %= (IV)
(2) FE ()
(3) FaEE (IN)

(4) = (IO)
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B4. Choose the cube from alternatives that will

be similar to the cube formed by folding
the given figure.

A

M (I (Im av

(1) Only (IV)
(2) Only ()
(3) Only (IN)
(4) Only (1)

Consider the given statement to be true
even if they seem to be at variance from
commonly known facts, and decide which
of the given conclusions logically follow(s)
from the statements.

Statement :

Private school teachers are hard-working.
Conclusions :

(I} Some hard-working teachers are

private school teachers. > S
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4 2o ™ wys w) g AR wu, W |
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1% feeeht Ff vw W) s 9 | ofas o
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(1) et % H1E 2 9 o+ sfn " W
e B 0 0% W wER F0 Jie)

By assuming the given statement to b trus
and on the basis of the information g«

in the statement, decide which of th.
suggested course(s) of action logically

i
follows for pursuing

Statement :

A |.¢1|!1|L‘ I‘-npl.ll-.lllnl"l of New Delhi is

»il.,lﬂlll"h'.'ul by Dengue.

Course of Action :

(1) I'he Municipal corporation should
immediate carry out extensive
fumigation on most affected areas of
New Delhi.

(II) Extensive publicity should be done
on how to avoid mosqueto bites and
prevent out spread of disease.
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Select a figure from alternatives which will
continue the given series.

(1) .l..-.;"“".
H\

(2) L9\ | |
-

(3) /o | |'
R |

A\ M|

(4) | Lo i
i .

Kaushal is working in government
organisation at good regular position. He
works very honestlv. He is the most liked
employee in the office. He supports his
sub-ordinates and assists his seniors. He
works hard but sometimes people
misunderstand him. Which of the
following statements is true according to
the given information 7

(1) Heis not able to express himself.
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ENVIRONMENT
(1) NEVER:
(2) METER

\_l-")/ RIVER

(4) ENTRE
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(4) == : HE
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92.  From the given alternatives select the .

a3.

which cannot be formed by using the i1,
of the given word.
ENVIRONMENT

(1) NEVER

(2) METER

(3) RIVER

(4) ENTRE

Select that pair of words from 1)
alternatives that expresses similar
relationship as in given pair of words.

Fibre : Fabric

(1) Pulp: Paper

(2) Thread : Needle
(3) Seed:Tree

(4) Hair: Comb

Select from the alternatives that
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Salmaan is nine year old boy. He is the only
child of his parents. He used to play with
his friends every evening. Salmaan’s father
usually come home in late evening. His
mother cooks tasty dinner for the family of
three, Mow, ind the statement that must
be true according to the given information.

(1) Salmaan plays football with his
frienids.

(2)  Salmaan’s parents don’t play with
him.

(3} Salmaan doesn’t have any sibling,

(4) Salmaan’s mother likes cooking.

methegivenalmlim selec
which cannot be formed by usin
of the given word.

INTERNATIONAL
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Do
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F@Q,Q+R,R%T@
foend
(h PaT
() Q+T uk
() P%R LA 3-&

(1) = (101) 79 &)
(2) FFE()EEE
(3) FFEE (1) T T

\ T (1) = (1) T

98. YT :
P&Q, QAR, R&T
foread
() P&T

97.

@"H
Q1{$

@ PAR
() QAT @it
" @,_H

@ﬁhm“ngmmh

Directions Q. No. 97 - 99 are based "
following information.

A A B means A is not smaller than [

A & B means A is neither smaller than |
equal to B.

ﬁﬂﬁwmsﬂmnmﬂmr greater than .,
equal to B. .

A + B means A is not greater than B.

A% B means A is neither greater than nor <.,
than B.

Statements :
P@Q, Q+R, R%T
Conclusions :

1) PaT

I Q+T

(IIly PaR

(1)
(2)

97.

Only (II) is true.

Only (1) is true.

(3)  Only (II) is true.

(4) Only (1) and (II) are true.

s‘tﬂt’!ﬂt&“ﬁ - | r'.l':_J-..'
P2Q, QAR, R&T '
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foraged
1
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(i) P+R {Iﬂ {:{Lj{
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w/ e (1) sf () wea #

2) W= () Em
(3) e (1) sie () v E
(4) =@ (1) v B

fr= fam vl ®1 SUSH vEREEN F AAAEN

wEfEEa Wit
(a) pm‘mr'*“n""@
() perceptible VoG

(©) perceptual &

perforation(5)

1040,

Assuming the given statements as true
decide which of the conclusions are true on
the basis of these statements.

Statements :

P+Q, Q%R, R&T

Conclusions :

(1) PaT
(I Q+T
(II) P+R

(1) Only (1) and (11I) are true.
(2) Only (I) is true.
(3)  Only (1) and (II) are true.

(4)  Only (I} true.

Arrange the following words amutdinﬁh

-‘. .
¥

the English dictionary ma.ngm
(a) peremptory Sl
(b) perceptible

()  perceptual
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b D

{a) peremptory®

() perceptible Wo&

100

Assuming the given statements as true
decide whach of the conclusions are true on
the basis of these statements,

Statements :
P+0Q, Q%R, R&aT

Conclusions :

|_I..I' [1‘1-.].
Iy Q+T
(Illy P+R

(1)  Only (1) and (IlI) are true.
(2)  Only (1) is true.
(3)  Omly (I) and (II) are true.

(4} Only (IH) true.

Arrange the following words ac cord _ .
the English dictionary arrangement.
@ peremptory

(b) perceptible
()
(d)
(e)
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10,11, 15, 24, 4#}'162,
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(1) 95 o)

@ 100

@ 9%
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(1)
(@
(3)

T

i/

L

iyl

(4) i

103. 39 Wit fawes #1 Ffw =i & 7 - aen

Eal kol

ABCD, BDFH, CFIL, DHLE, ET O

g

{ B

AR = f

1. Choose the correct alternative whi i, .

102.

103.

omplete hwmber SOTIES.
o
10, 11, 15, 24, 40, 65,
(1 9% gk i
J.I.'_
@ %
v,
@ 101

Select the one which is different from oth..
three :

(1) Narmada

(2) Ganga

(3) Yamuna ‘¥

(4) Godavari ’ .
Choose the correct al ; R rwill
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104. G W =ECOF AR A g7 =

(1) faermpa fagim O
(3) fwemmad F
4) sEETIATET o c
105, CHREF IR EFAIANE? '
(1) B
(2) F
1 G
4 H
106. D% Feem ol sinFR aa § 7
F M H
R @ A
(3 B
F
p. feu o v O R SR T €, v A
e it v o v T s =i

Directions Q. No. 104 to 106 are based on the
following information.

Eight executives A, B, C, D, E, F, G and H are
attending a meeting around the rectangular table,

‘E' is sitting second to the right of ‘C’. Whereas

“C” is sitting right to ‘A’ which is to the right of

‘F'. A is sitting just opposite to ‘B, ‘D’ is sitting

in between ‘F and “H’. None of them are sitting

on the corners. Equal number of executives are

sitting on opposite sides of table. Three
executives are sitting on one side of table.

104. What is the position of ‘G’ in respect of 'C' 21
(1)  Just opposite
(2)  Immediate right
(3] Immediate left
(4)  Second to its right

Who is sitting in between Cand E?
(1) B
() F
3 G
4 H {
Who is sitting immediate right ri :
1) H Ly
2 A
@ B
4) F "
How many such pairs of letters a
between them in the 1the E
alphabet ?

105.

106.

107.
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108, Fedfra vl =) wa o e W oI A 12 &l
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(1) 10
(2) a4t LAl
(3) 5.
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(1) 10
(2 13, LM
w27
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w&ﬂl 108 - 110 are based .

following information. §

Kﬂpﬂihmlﬁnﬁmthm Alka, |

is standing 12 mts East of Kalpana. ..

MIﬂmMﬂwtﬂ Sameer,

12 mits East of Ella and Jasmine is 8 mt-

Ella.

108. In a class of thirty three students 0
rank is 12 from the top, but h..
brother Mohit is 4 rank above fron |

What is Mohit's rank from the botton,
@ 2
2 29
@ 26
4) 25

109. If Kalpana walked 4 mits toward her o0

how far is she standing from Ella ?
(1) 10 mts

(2)
(3)

4 mits
5 mits

110. How far is Kalpa

Jasmine ? g
(1) 10 mts %

I {-2} 1 mts ,!II:-'__'_}' 3
(4) Bmts -b‘-'w 1::}.,
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112. Preparation of a test according to test
specifications in the blue print mostly
enhances :

M)
@
@)
(4)

construct validity
reliability
content validity

concurrent val.idit_',r

113. The most common model a child selects to

guide his life is :

(1)

a person who approximates the
child’s self ideal

(2)
(3)

an older sibljng

a parent, a teacher or a person in
authority

a person whose conduct appre \ck
perfection

(4)

114.

LM, g
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(1) wfvard fasm

(2) = fefaa v
(3) fa=mrEm
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117. "o fawm sifrarda.
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117.

115.  As to the guestion of values

(1)

(<)

(3

(4)

116.

begin with multiple ideas and rea |

In which type of thinking does a o

The pragmatist and the o
supernaturalism as o sari

source of values

Ihe realist and idealint boi
thedr values from man’s cxpoo
The pragmatistand the ideali
their values [POmM SOURCes oul |,
man

The idealist and realist btk
their values from intuiticon and o

“ome” solution 7

(1)
(2)
(3)
(4)

(1)
(2)

Convergent mhﬁmg
Vertical thinking
Brain storming

Divergent thinking

Social development is essentially a marn
of :

The LlEUE]n?mt ﬂ'f I '
Conformity to the d % nfl ﬂ1.
social order,

Achievement of social security an.
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1240.

121.

for ?
(1)

(2)
(3)

(4)

119. What does the abbreviation ADHD stand

Attention Deficit Hyper Ventilating
Disorder

Attentive Design Hand Disorder
Attention Detficit Hyperactivity
Disorder

All DIET Hyperactivity Disorder

Which of the following best describes the
extent of the effect of heredity upon

development ?

(1)

(3)

(4)

Heredity determines how far we will
A

Heredity is the primary determinant
of how far we can go

Heredity is the primary determinant
of how far we will go

Heredity determines how far we can

go

The field Theory of Learning places
primary emphasis upon :

(1)

2)
@
)

ummh,&uamnfmn*sgmh'
plays, in what is learned
the wholeness of learning p
the wholeness of learning s
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124. Frafefam o 9 €9 o foafa wraame

Wi it 7

(1) ey 3tem % w7 E1 A o gan
Ll

(2) W wem gaet g Tl O awda faaem
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123 Arrange the following stages of cou;,
in which these are followed 7

Codes :

(a) Establishing empathic
understanding

(b) Termination and follow uy

(c) [Initial procedures

(d) Intervention strategics

Codes :

(1) (a). (d), (b))

@  (d). () () (@)

(3 (), (c). (d). (b)

(4)  (a). (b). (d). (<)

124. It is a pragmatic position that :

(1) Th'-’]:l'ltrpnﬂllufplﬂ}riﬁ to improv.
ability to work

(2) No institution is too sacred to es:
critical analysis

(3)  The opposite of an evil is good

(4) What is good for the individu:|
mherentl:,r good

(1)  help children le R

P s
b
= |
i
N o
i - |

. L
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126.

127.

128.

Those whose educational philosophy is

rooted in pragmatism

(1) consider that 1.Q. is innate and
constant

(21  reject the scientific method of
experimentation

(3)  maintain that complete objectivity is
possible

4} claim that knowledge is tentative;

truth is relative

Integrated education for the disabled

implies

(1)  part schooling in special schools and
then part in normal schools

(2} admitting disabled children in special
school pertaining to their abilities

(3 rr._u.-i.jmgmemmjumtimialnngwiﬂi
normal children from the beginming

(4) only special teachers to teach such

children e

Joyce and Weil umw '
teaching models int di -
whld-'lﬂfﬂlﬂ' ollo . 1y does not
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(4) vE wgg =fwm % foe aom

130, #awt apama o w2

(1) <=5 smm
Lﬂf;m

(3) o

(4) fe=mm

131. 6 - STHA THE F FEifE weeyo wy ¥

(2) Eﬁm&#n‘mﬂﬂ T =1 fae

(3) T S WfaedE
(4) TEE W&l W qum

132. f=fafaa § | F9-w w1 arfas dem &
e H WA
(1) 9T |/t ¥R Hit IRl =9e s
qHfEs AEE THfas g5 = e
CEnif
e g HHfa® w9 # 92 T=i & Ar-foa of
HETad: WAfEE Sod | difsa @9 §

(3)  Teremfers Hafwm qen nif & difea 5 &
=i § At Haa o

129. The basic ideal of a democratic socicty i,
(1) frequent criticism of whatever
thinks as wrong
(2) powerful leadership
(3) Dbelief in the opinions of the leader
(4) respect for the enlightened individy,

Cumulative frequency graph is know,

130.
as:
(1) Bar diagram
(2) Ogive
(3) Pie-diagram
(4) Histogram

131. The most important advantage of the
true-false test is
(1) the high diagnostic -r.ralue
(2) its elimination of guessing through
correction
(3) its wide sampling
(4)  the validity of its items

132. Which one of the following is often true

about mental retardation ?

(1) Almost all types of physical injurie:
and trauma may cause menta)
retardation

(2) The parents of me
children are us
M 2o N e
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133. Which of the following cannot be achieved
W gl wEl w1 WA w9 Al Ol

by using objective type test items ?

k7
(1) = Fife i favasEmn (1) High degree of reliability
(2) =HEA wfE § Fagfre (2)  Objectivity in scoring
vm a1 = T (3) Wide content coverage
- .59{ e WHIME A (4) Problem solving ability
134, #5774 WeEdE WO W ey R ¥ 134. The primary purpose served by A.V. aids
1s to :
(1) == Wt e =47 0 etea Q0 o, 38 (1) quiet down a class whenever it gets
Wi A restless and noisy
(2y AT avE & o Tel TR S (2) clarify certain aspects of the learning
eXpPEeTience
L('S(“ e IUT & i TEieE WA w6 (3) provide variety from too exclusive a
T fafawm = w3 use of a verbal approach
arafas s &ﬁ“ﬁﬁ e faendy (4) permit meaningful student
HEWIfTe 1 SaE 2 participation in actual learning

exXperiences

135, == el 3 Tars =1 ardensd] @0 A | 135, Three of the following are essential for
# 1 2 fen T A A A e wH E TR teachers to do if schools are to fnﬂihe |
syl F st =9 ° e e W expectations of the society. Which one is

'.:.- B A

& o wifee a8 FA-WE? not ?
(1) ﬁmﬁqﬁiﬁmﬁﬁmiﬁ (1) They must relate sc
afeedi & Hata F cultural patterns

mﬁmﬂmﬁrmﬁﬁmﬂiﬁ (2) They must re ord |
isfmﬁiﬁmﬁemmﬁmt I:d:ﬂﬁl'in ocial inte

" LS # ‘,.__:,-_L?ﬂ.__.
it e N 8 -
} o S

'_%% o




136, Tosrteriimm of ) fewm fafia of P Fracrer &

T weae A W) Aggm fsm am F y

(1) WO Y

o

(3 Taarers an faf

MPTHATE S oy T iy

(4)  Hdwm fafi

137.  #fvmm = wvrEemet B9 % fo aw sy @
& % w9 ® e ared qof )

(1) Teemer % wfaen

qrETEaeTE IRl

() ud wfafem Sifgw faam m awmad
(4) o7l Wi snEvERas o wreE

138. TAHIZIAME & foog o fofafaa 9 9
BH-T1 T TR A& ?

(1) 30 %1 g8 wo=n famedt fom =t
TR § UR A

7% U Fifatus g ¥ fag =t wmen

13. In which of the follow

137.

138,

iy mael haowls thee

existing knowledge is used to draw

*
corclusions |

(1) Positivistic methiosd
(2)  Inductive reasoning method
(3 Deductive reasoning method

(4) Survey method

For learning to be effective, a goal must be

meaningful in terms of :

(1) The standard of the school.

(2} The curricular objectives.

(3)  The intellectual ideas involved.

(4)  The learner’s needs and purposes.

Which of the following is not correct about
the NCERT ? _ Liood




19,

140.

O T S IR R R

sl W Tatra wugn e sl

IACE TE

TR ITA F O oo w0

VITATT foen = e TET ETA

Al W U UE s s e
# fem safus 9 vom =13

fdt 9ism 1 v o s s gy o

Frfafam 4 | $9-m = maifus w6 &2

(1)

(2)

(3)

®1§ gimm ofe gEEiEa T4 F A aw
fayaasta «t =& #m

W A% g gie Ay TE R
a% 4y 7 7

| TF IS E S e e, 9%
Ay TE & THa

o s v e v 7 & ) o ferera

St e

134,

1440

The curriculum of the school exists for th

purpose of :

I"'T".'l"-'l.'-.{|1"l||-:, the child with l'r_.'ll||:|;-1-_-._!

meaningful educative experiences

setting standards of academic
attainments

Frm.-i._{:ing unirc'r:n:'t_r in Indian
education

providing the child with skills
effective and

necessary for

1‘:u_*.3nin:._;ful l]"x"m;i;

Which of the following statements

concerning the validity and reliability of a

test is most accurate ¥

(1)

(2)

(3)

(4)

A test cannot be reliable unless it is
standardized

A test cannot be valid unless it is
reliable

A test cannot be valid unless it is
objective

A test cannot be reliable unless it is
valid R

141. Which one of th



142. TW Terenel =) & =Y lI-:| 1.|]_;|-Lq.:! &1 He
RO &y 2
(1) Waw fagia st spam st 2fe 9 =4

{2)

B3

(4)

w1 arafaa fan = e
AR 3 {9 | T S m s

A+ worem g aw w

< Wi IAFT e ey i EEALr |

F A wermm fum wF efh 3ma
RISl 1 TEEH ® W wE

Wi =2 JeH 8 195 s 393 g s
0 HE €, 3 9 | Rve amy
fvm o1 =%

143. WM gl ¥ AR T 9w o fm i e
=l R WS Tl S fegid  fagiariom

=¥
)

FJ

| 9 4 SHIfEA saen § mdE
=Y § = 3

T I w9 8 STEifed =rEen W
W wE gvE T

142,

143.

What is the basic reason tor stud,, g {

individual pupil ?

(1)

(2)

(3)

To keep update IN respe:
educational theory and practic
To place him homogeneously, |
fﬂﬂ[mm.l.kluq_—aﬁmr‘la];J-.iﬁnu.n—.*..._- .
To help develop the potentialiti;

identify his weaknesses.

To find out what one has learn

hence start instruction at that |

Research studies reveal that indoctrinat
children in religious creeds and ideoclog;

(1)

(2)

resulted in a significant decreasc |
socially approved behaviour
made no sigpif:r.:mt Increase in
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-
V. HE {1y AW 6nas e 1) was
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- - v by we
T T T e
L) TEE 39 favadem

146,

FAEE e w1 v frefafaa 8 @ faw
W B W o W 7

\{))/ihﬂﬁ‘l e Sl
(2) FO AYIREE THEAIR
(3) s e

(4) TR

L4

Ld.

Mhe chiel "selling point it

el i als

(1Y Ability Lo

summarising and organising
(2 High valicity
(1)  High diagnostic value
(4)  High reliability

Creative children can not be identified

through :

(1) battery of LO. tests

(3)  certain observational technigues
(3) aptitude tests

(4) interview
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149 1:; F'!iﬂ erieiee o © feod aoow
(1) Yruisa 9% W Aam w73 o
T W fawm w e s
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148

149.

LA Ty s ] o bl o Il |

i -}'|-.-'-.|-|. " n-h--Hn-u- A | '1F"'||"'
reacher should st Jownke amiftes

(1 the undermining influence of |

and comumunity

the .lt:'nul-plu-rr of the home wl

the child comes from

(3) the |.|‘|1l"r"F"|'||.“'i'l'lI"‘p"u of the w
assigned and the demands mad.
thiem

i4)  the sociometri structure of the clas

Objectives of education are not helpiul

1]

preparing evaluation tools
understanding child development
e

designing learning

(1)
(2)
(3)




